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Import java.util.Scanner;
class web{

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);

int month;

month = sc.nextint();
switch (month) {
case 1:
System.out.printin(
break;
case 2:
System.out.printin(
break;
case 3:
System.out.printin(
break;
case 4:
System.out.printin(
break;
case 5:
System.out.printin(
break;
case 6:
System.out.printin(
break;

case 7:
System.out.printin(
break;

case 8:
System.out.printin(
break;

case 9:
System.out.printin(
break;

case 10:
System.out.printin(
break;

case 11:
System.out.printin(
break;

case 12:
System.out.printin(
break;

default:

System.out.printin(
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import java.util.Scanner;
class web{
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);

int month;

month = sc.nextint();
switch (month) {
case 1:
System.out.printin( );
break;
case 2:
System.out.printin( );
break;
case 3:
System.out.printin( );
break;
case 4.
System.out.printin( );
break;
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System.out.printin(
break;
case 2:
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switch (month) {

System.out.printin( ) case 1:
break; case 2:
case 3: case 3:
System.out.printin( System.out.printin( );
break; break;
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import java.util.Scanner;
class web{
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int month;
month = sc.nextInt();

case 1: %??Hl

case 2:

case 3:
System.out.printin("5~");

case 4: ﬁiﬁﬂz
case 5:
case 6:

System.out.printin(" =

case 7:

case 8:

case 9:
System.out.println("fk A");

case 10:

case 11:

case 12:
System.out.println(" % 1");
OTeaK;

default:

System.out.printin(",% 75 2= (50 1");
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int month = 6;
switch (month) {
case|1:
System.out.printin( );
break;
case 6:
System.out.printin( );
break;
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char alph =
switch (alph) {
case
System out.printin(
break;
case
System.out.printin(
break;

}
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int month

switch (month) {

case 1: casel:
System.out.printin( System.out.printin(""* ~");
break; break;

case 6: case 6;
System.out.printin( System.out.printin(" = 1%
break; break;
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short * byte * int 2FE

long menth = 6;
switch (month) {
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